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Q No. | Question
o . .
i What are the Highest Common Factor and Lowest Common Multiple of 6, 72, 1207 / .
3 6, 72, 120mmﬂmmwwﬁw%?
12, 180 Ps, 360 (360, 6 [ 12, 360 ‘*
o
9 2 If a quadratic polynomial y = ax 2, hx+c intersects x axis at a and B, then /
~ I T gfauTchd Sgue y = ax+bx+cﬁ?éTﬁffx$Ta3ﬂTBW?ﬂEﬁT%a‘r
2 [N | 4
Y \ a+B=-b/a |a+B a/b ‘aXB a/c a/f=1
=
S v c/3; If in two linear equations ax + by = c and dx + ey = f and a/d = ble = c/f then, which
== O of the following is true about the two equations? / afe Efave | ax + by =c
‘i 3R dx +ey = f 3 a/d = bje = c/f A & AT & ar F P A ¥ HT 7 FA &7
They represent intersectingleThey represent ' Have a.unique ’ None of _
lines / & 3iafdsed @3 | coincident lines. / @ solution:/ T& | these / 3aH
| Y e & worer Y@t @ g € | R & & ¥ @IS el
A ,
-~;‘ L Vv . 3 1
‘F //
Au 4 Roots ofthequadrancequatlonSZX +x—528=0is : / A FHIAOT 2x?+x—-528=0 FH HA &
7 16 33/2_| Both a&b/ a3 b e Noneofthese/ Wﬁaﬂéa@r
Qu)i) 5 Sum of all pesitive integers from 1 to 100 i‘s>: / T YATHS {Uﬁ% 1 & 100 T 3T &
5050 15020 ~ | 10800 L2400
2,0 : :
@' 6 If area of similartriangles A ABC and A DEF be 64 sqcmand 121 sqcmand EF =
15.4 cm then BC equals: / af¢ HA Pt A ABC 3R A DEF T &5ther 64 Fd7 Jafr. 3R
121 g9 o#. ¥ I EF=15.4cm &, @ BC s=X &
L 8cm / 8 @A 18cm /18 @, | 11.2cm/ 11.2 &A1 | 8.2cm / 8.2 ¥+
xﬁ"‘{& : m:é,b'-");’c_/
\ly, % i ; . : s e |
'S/ | 71 Area of a triangle with vertices at (2, 3), (-1, 0) and (2, -4) is ;-/ y
i v g, o o (2, 3), (-1, 0) AR (2, -4) &, 38 & 8 15/
212¢m /| 21/2'squnits / 21 sq units / None of these / 34
21/2 ¥ 21/2 7 i 21 7 g T A 200l
k|
5, ~
%]/ 8 2 x Tan 30°/ (1+Tan?30°) equals : / 2xTan 30"/ (1+Tan’30°) & awrex g &: s §
' Sin 60° [ Cos 60° I&Tan 60° ['sin 30° 3
61 2 £ 20 M«""ﬂ‘
—_— . — Y 1®

%O \’_Z &C‘”)’ _\"311, /w\ /Lgb‘e H_w‘p }w
(O\ ‘)HMH (f[ﬂm "J‘gﬂzﬂﬁn@' a \




. N e
The ?ngle of elevation of the top of a tower from a point on ground which is 30 mtrs.
away from the foot of the tower is 30°. Height of the tower is / T fg, St HFR & et

mﬁwm?ﬁm%ﬁﬁm*aﬁmmaﬂww | AR & a8 ©
10 /N3 mtrs. / 10 X V3 mtrs./ * 100 mtrs./ ‘ 20 mtrs./

10 V3 AT |10 Xv3 AR | 100 o R

cms. from the centre of the

Rig @ 5 oo, 1 g0 |

The Igngth of a tangent from a point A at a distance 5
circle is 4 cms. Radius of the circle is / BT g & &

ﬁKU#WTmﬁm@4m%laﬁaﬁrﬁm%
2cms / 2 | 3cms / 3 FAL | V3 cms / v3 &L [ V3/2cms / v3/2 G

Length of a minute hand of a clock is 14 cms. Area swept by the minute hand in 5 }

minutes is:/
uF uer A AT aﬁrgé@rarmémﬁxﬁ.%.Sﬁrﬁzﬁ%ﬂtﬁgéﬁzmm_ﬁm:
154 sq cms/ 154/3 sq cms / "[1210 sq cmsy/ | 154/ 3 sq cms / '
154 =ff ¥, | 454/3 @ @& . | 210 TH-HAL | 154/v3 o .
._%l)fa’g = ﬂ-{zl' \.zl').’(\‘
2 oy 36’(""—

rocast into the shape of a cylinder |

A metallic sphere of radius'4.:2'cms. is melted and
s 6 cms, Height of the resultant cylinder would be: /

of radiu _ ‘
Wﬂmﬁﬁmﬁﬁﬁw.mﬁﬁﬁ?%m’

s 4.2 . T
'gra:ﬁﬁ?rﬁmamr%l qRoTHEe: S st $ 5 B

.}/ O #
6\\5\ 110 cms /110 &#r. | 3.84 cms/ 3.84 27T, | 30 cms/30.8F.  [2.74 cms/ 2.74 qu‘r__/

j @ 15 | A box contains 3 blué, 2 white and 4 red marbles. If a marble is drawn at random from
A |~ |the box, whatis the probability that it would be white./
arg AR 4 @ Fa & aferr T Ew b Iy g5 A § UF A

@rzﬂzﬁfammﬁfaﬂﬁa?ﬁaﬁ ST & aF 3% |G g T WAFar hae & |

,,;\”"L\ i be determined/ PEINGEEEEHENIEEES K | 719 F219
X |
[ v} /\ T
annot be the probability of an event? /

4 44 | Which of the followind © :
Z 4 - g T Gl st e 8 Fe?

[ i T —
D5 " 1.5 5% l0.7

lculated using direct method, assumed mean method
~T15 2 grouped data ¢ o od Of
- Mean of 2 9 thod: / T FHETS sitws @ A, edet faft, sfeqd aew By g

‘Has huge variation/ None of theg/\

37 Sead gl ¢ Eﬂﬁ#aﬂgaﬁ
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/Lé Which of the following is a Prime Number? / e & & e u& 34 'H_TET_?Z____\_
12 (7 E 4
i I‘
../ﬁ/ If polynomial P(x)= x* — 3x? + 5x-3 is divided by polynomial G (x) = x* -2, hes
quotient and remainder are : / @R gYE P(x)=x* — 3« + 5x-3 fasfa glar & ¥g9a |
G (x)=x*—2 &, a afey 3R NG & , ¥
x-3, 7x-9 | x, 7x [ -3, 7x [ x, 7x-9
| e =
\\1 4 gl If in triangle ABC, if side AB=6v3, AC=12 and BC=6, then angle B equals: /
A u P9 ABC ¥, IfE T AB=6V3, AC=12 3X BC=6 ¥ d PIUT B TH &
| 120° [60° [ 90" | 45° s
% >
|
N 19 What are the coordinates of the point which divides the line joining (-1, 7)and (4, -3) ('@,Pﬂ
in the ratio 2:3 ? / _ _q\
_mﬁg%ﬁﬁﬁﬂmm?a’rsﬂsﬁmﬁt@r(—l,?)m(ﬂf,a)ﬁ 23 & o & | (%
\0, <
7.4 [9.9) [@.3) [4.7)
d ¢ : ) Q—’g 2\) ?'(g_,‘fé’ .
2 s : . : . 8>
/26 Volume of a cone with radius r and heighthis: / k-
4 A7 | si o P r ai S b b S ST S
e [ méh/2 | mh/3 . [mhid 4
TG e e, | 2
Tt : o foo ol e s
) /2{ International Day of Yoga is celebrated annually on:/ EddH Ik
& o @ SERATSE AT R FAR S 6 - phpter:
@ 21 June/ 10 December / 21 July / 21 September /
|- 21 5 10 femFe 21 S8 AR
J 25 | City of lakes'in Indiais: / STRA # givelt @ A T
S oW / Chandigarh / Bengaluru / “Udaipur /
e : ‘ ;
2?;__ Which of the diseases is not caused by virus? /

' o5 are there in India? / ¥R # fopcer T §? -

74 | How many sta
26

F7Bods(Vou .
EIBPS1HHIISSBIHPSG‘I'SIRIE‘MEI‘EIHIIIS‘! g
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B e “d

: : Tae #,
125 During Akbar's regime, who carried out land revenue reforms: / 3/@sR & 2

| o s qur e :

Mann Singh / 7= Rig | Todar Mal /est #w [ Birbal / d<@ | Tansen / A

&
' "fj Which of the following is the unit of heat? / forest & ¥ 35T Y 51S T @ 87
[Joule / 3 Ohm/ 3# Ampere/TFEdRIT Volt / afee

Who among the following is the future Buddha that is yet to come? / = & ¥ &t
TR & g ¢, R 30 smaRa g g7

Lokes Varna Maitreya/ #37  |aughing Buddha Chanakya / @moreg
ISR ot GULTCT
Jaundice is cgged due to malfunctioning of :/
| e 9 R e @Y & Fwor g 2
“Liver / ¥ Stomach / de Pancreas / 3t Kidney / aref
A ‘ ' ‘ |
1o 29 Tsangpo river flowing through Tibet is known in India as: 7 ]
Jg LRt L T T —
bz d Brahmputra / SeA9T | Ganges /afarr Sutlej / FagsT | | Beas / =g |
n ,86 Yuri Gagarin,. the first cosmonaut to regch Space, was from which country? v
i&wh':é/ = qamm,mﬁa#@mﬁmmmmmtm - :

UK / gests fmrsd | Japan |

L “Russia | &g

.| What is boiling point of V\(atér in Fahrenheit? - |

thegIse & 9l F1 FAAD F7 i
L 22 TR N
,36 Kalibangan, the Indus Valley _
/ )

Freiaan, fiy el T, Rud &

Rajasthan/rleFlTGUJ'afat [T

Who was the founder of Banaras Hinduy University? / 2 «
afeaTer & HEATH il o

TR fig _
Sukumar Dey/ Madan Mohan Malviya
Fea Agel AAd

Boost Your Exam Preparations With LST _ -
SBL| IBPS | RBL.SSCJL.UBSEC | State Level EXams™§

[
ner
visit - www.letsstudytogether.co Scanned by CamScan




. .
SRt ]
Where do you find the temple of Angkorwat?
IERATE #RT Fa Rud B %Myanmar/m
Thailand / arzafz | Malaysia / s Combodia / H#S727" |

. = —
A5 Which of the following can cause a Tsunami?/
ki, Pl i L Earthquake / & |

E — :

— ;___VW Avalanche / §a-T@ee T?rnado (ieasty —artng ‘
1 \ ] : —_—
_ \\ The Bhakra Dam in India is built on: / 5 # s@eT &y A e . b
1 Beas River helum River Sutluj River Ghagrggwer

_ /=TT FEY ST A [E AL faresT

N =
/ 3 Who wrote ‘Ramcharitmanas? /

THIRAHAT & AT FiT a7
’TulsidaS/F_!’Tﬂﬁa'l?rk | Vedvyas/ dezarer | Kalidas/ Feier | Panini/ qriotel

The river known as Ganges of the South is: / . i\
a’fﬁwaﬁrmaxwﬁmmmmé;

] Godavari/ Iier@ad II'P{rishna/' Ty ] Kaveri/ @73l |:None of these/ &=# & H1E ¢!

39 Where is the Tungbhadra Sanctuary located? { oo 8! ‘ ot |
I IIROT St R ¥ ‘

| MP/ A&7 g UP / 3caX wewr Karnatal'(a | Fiew | WB / aRes semrer 1

| 40 [ Where is Nanda Devi Mountain? / 7T &&t 9dq et 22
|

Uttrakhand/ Rajasthan/ Himachal Pradesh / Arunachal Pradesh /
L-J_TFW a3 TSTEAT fewrae geer 3RS wer

W Jaya S , Samhita is the original name of: / 57 TR 7 A &

mayana/ Bhagwat Gita /
. afrar

HEIR T

Rickets is caused due to deflmencm
24 &/

m & FNOT F@E AT Qe §?
Vitamin K/




B e

Who was the first woman speaker of Lok Sabha?/
/Fﬁ? T i gy Afger gaTafa Sl A2
Sumitra Mahajan/ | Najma Heptullah/

Meira Kumar/ Paratibha Patil / ‘

g #grsre AT FTeeTE #RT FAR e
R
\};4/ With which sport is term Butterfly associated with:/

Fe QT ¥ Seqrars Ueg FFTUd 87
Kabaddi/agsr | Cricket/ f&ehe

Swimming/ ?\"{Tﬁ#

Football/gesTer

45

The resolution for removal of Vice President of India should be moved in: /

ma;w-mgqﬁa:mqu@mm:

Lok Sabha/ Rajya Sabha/ Either of the Houses/ | None of these /
A T IT |IHT frdT TF HeA H TAH § FIS A6l
J

What happens when dilute hydrochloric acid is added to iron fillings? /
mms%@%aﬁﬁmqﬁﬁmm& a9 T8Il &7

“Hydrogen gas and iron| Chiorine gas and iron Noreaction - lron salt and water
chiloride are produced/| hydroxide are produced/ takes place/ | are produced /
,'BIBSISIHNWWWﬂqm #E ufafpar | 3mRa aee AR

A+ FE S5 Fecdy 74

A solution turns red litmus paper blue.lts Ph.is likely to be:/
o o are feeHd 9 H dlle 7 uRafda #T gar | sHe 9 vE g
4 |5 10

1

J

An element reacts with oxygen 10 give a compound with a high melting point. This 7
compound is also soluble in water. The element is likely to be:/

o deq e & @ SRR aRE v 3ea Rees Rig aren v A saer 8 g
A qrel # geeie 1 IE 9 g

I~ z
Calcium/ &fezrre | Carbon/ FTdeT Sili Tt
/‘%142: / e s l"?r:_'._u Iron/ 3maRer
i i L--—é’:-s"fd & 0,1 te = FeO
|49 | While cooking, if the bottom of the vessel is getting blackened on the outside. it
~ | meansthat:/ ’
e S T A A H TN TR B T A Fo @Y T, T 3 ¥ -
The food is not The fuel is no} burning | The fuel is wet | The fuel i i
) s burni
cooked completely/ com;p,;telw ;‘Wf qbe: |/ $ea afver ¥ completely / §u:rg
qehT 6T €] el el (6
|7 T akikol

Boost Your Elam Frnlal'alluns 'lmll lﬂ
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50 | Which of the following statements is not correct about the trend when going from left
to right across the periods of the periodic table:/ froeg & @ Fia T FYA S &

Aol # ardt @ ot o, A vE & av A

The elements The number of Atoms lose their | Oxides of the
become less valence electrons electron more element.bgcome
metallic in nature /| increase / golagisl & | easily/ 39 #9a | more acidic / dca
el 1 vl FA | TS TS A o HI AHOH & eassy A
wrfeas gl & Fem A g Al |y A WA 3FA @ S ©
1
| ./Sf Kidneys in human beings are a part of the system for: /
Alea R A ¢ Bra gomel &7 U T §
Nutrition / 9ot | Respiration/ 2a& “Excretion/#el @@t J’)ansportationlm
/ —
- ‘ o ,aj‘ The gap between two neurons is called a: /
| & T F T F AW F FEd o
Dendrite/3s18e l Synapse/-f&@ica | Axon/ Ui ) Impulse/sFaea
| 53 In.a.plant, the anther contains; / T& WY & WEehs & g%T &
4 Sepals / T FH dEICA 1 Ovules/ sTSTToT \ Pistil /_gsa Zifa | Pollen grains/ URIeTsHROT
1 | | | £
|
Q*\ | Aj In evolutionary terms, we have more in common with:/
}\ AFTF Tfoe F, gad 30 TAWCT &
! //A Chinese school Chimpanzee / Spider / Bacterium/
¢ boy/ T el BT | Rl ma— EL
| - _Ama
| T Which of the following material cannot be used to make a lens? / n
B & § F AT gy o S A T Y R S Rl &2
\ Water/ drit Glass / gfrer Plastic / cemitesw  [Clay / &gy
56 | The human eyes form the image of an object at its/ T
AG o el g & wfafde sefar @
~NY \ Cornea/ ®if«am J Iris / 3m8H Lpupil/ ga?»?f "Retina / Yfear

ot & @ 7 o IRuY # Rega o s gt aeiar &

ER [IR? v VR

e Boost Your Exam Preparations With LST
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Which of the following terms does not represent electric power in a circuit? / —\
[ o




e

58 | The devics tsed foregoe oo i |
v producing electric current is called: /
Jl/GleEL;'eE'rq:"F UeT Fr & fd w@er @1 arer 49 S &
ator/ Sevey | Galvanometer/ Aeaaidiey Ammeter/ H@M
{
- _-9 Which ,Of the following is not an example of bio-mass energy source? /
I & & Pl ARw 35 TG &1 U Ieer A E?

Wood / @81 | Gobar gas/ sX 3 | Nuclear energy/ m@

/6/0 Which of the following constitute a food chain? /
o & & Sl v wiey S@en Serd §?

Grass, Wheat and %’Grass, Goat and Goat, Cow and Grass, Fish and
Mango/&m¥d, 9 3R | Human / &4, Elephant / §&, Goat/ &1, #Te!
HH gy 3R AT | ama 3R gl kiicdcCa

For question nos. 61-70, complete the sentence by choosing the. most appropriate option

from those given below:

I —

: . . —
61 | Pleasure and pzin are inseparable facets...............- human existence.

e e -k B r -?—’—f_’ t

| in EORE— S— of ¥ Wl W - - |

| N 3 |

62 | Is there.......... fitness centre near your hoﬁ_is_gzi
[ — R e | none of these 41
’___———7——"’—"____—4’_ N - §
63 | He has hardly read.......oook- | 1
‘ ‘the | none ofthese - |

_rﬁaﬁi_d_ﬂ_,;_ai, e

e
—1

s:,;;ﬁe's body, mind and spirit.

_———

7 | .ol pain is real anduaffect
64 | ........ofpainisrea and affects A
\ | Experiencing  [[Experienc€ __ Experienced ] hone.of these
o . . %
65 He drove with.......care and hence Was fined by Traffic Police.
....... and he
much litle I all l none of these

attract;t—gtﬁi_sf’— from all over the world.

//
_cultural diversit
. 58 i:-*d::a's India l Both -(a) & (b) I TR
n

name figured in the Times of India.
Qny | none of these

doctor, whos€

iy Boost Your Ex:
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68 | The.......monkeys that escaped from the Delhi Zoo were found eating bananas in g
fruit shop. L T
many | three allmm— | Cif

189 | Weare........to go out for a picnic tom

OFfOW. ey a
plan oianning. . UGROME  T think -

470 The train must........ reached Delhibynow. L %t
has - . | had have none of these

For question nos. 71-75, select the word spelled incorrectly.

[#1 TFmischeif “Thelief | thistiee [ grief 1

_t72 | familiar sin | hammer [ grammer |

\/(?(ﬁi |73 _focal [ vocal' FCAl vehical » » Llocal |

—

\N’}X M \ éar_penter lFdenteist Trdoctc; ) ___
A J}{ | volkano | rater T 0 \

|lava | earth

h M}X For question no. 76-80; please choose one of the 4 alternatives that can be stbstituted for
\/ 5 .

/ the given sentence.
I A =

76 person who believes in God.
L \ Theist | Cynic \ Atheist

o
,E ‘ Story of an individual by himself.

Poiography [autobiography _ [nistry _ [noneofthese |

A book or paper written in hand.
ediion Larat menusctit | none ofess

79 A number of ships.
fleet \ galaxy constellation M
()
A yound cow.
boune O T ‘
R none of these

Boost Your Exam Preparations With LST
BLLIBRS==RBISSGUESC.. Statellevel Exams
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For question nos. 81-85, find the odd one out of the choices given therein. /

TR HEAT 81-85 #, Ry a1y fawontt A F 9w YA

i ke/ 3 &
\ﬂ Vindhya/ feea Satpura / ®aqsT | Aravali/3RTaelt Dal Lake/
/

Kaveri/ @@ '

| 82 Ganga /T Yamuna/ I j Brahmputra / SEAYT

j(s_:,j “Ammeter/ 3R | Thermometer/Z#iaeY | Barometer/SRIHICI Temperature/ artmT?f|

1/8}/ Mango / 3 apple / @& “potato / HTe[ blackberry /
| A
|
85 | Aizawal / 3msslier | ltanagar / $eePR | Tripura / B Shillong / Ryerer

For question nos. 86-90, each question contains a pair of words. Find the relationship
between these two words. Then choose from the options given in which the relationship is
almost similar. / TR T&ar 86-90 H, Ud& Y3 H Ush e IIH §| al eTeal S HEY FEaLl

gfed| acaend fed v ot # § FHT GA Y Aol faded H e

' 88~ | Copper: metal/ difer : &1 ‘
=i 5 = :
engine :car / | Furniture : wood /| Pen : pencil / Pepper : spice /
N 0 l ) 7 marer
— R e
87 | Granary : wheat / 3R E K.Y B —
lake : water / wine : grapes / gallery : art/ Archi
. chive : docy
el ; grer Al © 3R ey ;@ TRy - mmentsl
88 | Albania : Europe / 3rearferar - i)
Sydney : Australia/ |Congo : South America/ Ben
el : sforr @ gfaror 3R '
W Uranium : Nuclear power piant / \
RATH : WA] Tt T
coal : washery / sand : sea / :
el arerdy T g \

P H__IEI Your Exam Preparations 'ﬂl:l!.ﬁr
%%—SBLI-IHMH.SW | State Level Exams
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‘/————\
90 Hallikar : cow / gelre ;

dachshund : dog / | Gir: lion /
SUYE : Feal R ;W

/’Q In the number series, what number should come next?,7, 10, 8,11, 9, 12,

mw#mmwmm .....
1 [15 [14 . Fio e

‘Z,"‘ll, 7/\-1, 1, "/’ F

‘ 9/2 What comes next R, U, X, A, Dyl
R, U, X, A D, ... 30mar &7 30am

| E e | H | |

]

] . A, e i :
1987 Ll the 7" day of a month is 3 days earlier than Friday, then what day will be on the 19"
i 1 day of the month? /

qfauaaﬂ'é’rﬁwWTﬁ?rgW?Qﬁ?fqﬁ
‘Sunday/ @@ | Monday/ RilEEIry

ks

1

§, A 7O #7119 & e = g dom
Wednesday/quar | Friday/spak |

.

& 49 IfEARNisrelatedtoRAr'\j‘E-_“M ———— : :
! @?\Q\; S ey - a?.d. ?'OND 'S related to NODB, in the same way TEAR is
® afe EARN Hfld & RANE 3tv nat |- ~ BA
; 3 & y EmBONDWﬁH%NODB&a’rmmTEARW
\ ¥ .
o“v@ ATRE “AERT
& " -l REAT
9 A
AN i
/ 16t

9/5 Average age of a father an

d his gop
f age of the son? / i :,s'?"}‘gs‘zz years. Ratio of their age is 10:1_what is "

d .
et B2 %"f‘;zzawm

b : & 7
Qlf: i r24years/24 Gl HT!I ‘ HI 10:1 R T
“11 ) 40 yoars/a0 3% TG years 16 W
B Boost Your Exam Preparations With LST
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. For question nos. 96-100, each question comprises of a statement and two conclusions (1)

“and (). Assuming that the statement is true, which of the conclusions foliow logically

the statement? /

from

qeT T 96-100 . Sdw wor v F A & Fread () AR (1) & T A gU o FHI

#a ¢, Bl @ ovwd aiffe g § wua & Ty 3fRa gem

Statement : FUs

2

ROt & F=1T |

Conclusions: fassy
(1)
(1)

Ina qne day cricket match, a team made 200 runs, out of which 160 runs were made |
by spinners. / t& Radrr frhe &9 #, td &HF & 200 T ST, BSreet & 160

80% of team consists of spinners./ & & 80% U & |
Opening batsmen were spinners./ SRFHE Fooars IR & |~

—=""FR |

Only conclusion (1)
follows / Faer fosy

(1) e

" .
Only conclusion
(1) follows /

Fael fesay (1)
3Team

Neither (1) nor'(ll)
follows / & 4 (1)

i & & (1) 3reem
|

Both (1) &(II)
follow / (1) 3R (1)

2t & 3

Statement : YT
T

-
()

Conclusions: sy -
Change is the law of nature. / IRadT ST w1 A § | -
Discard old ideas because they are old./q(w TRl &1 earT & 4 aF 0=

The old order changeth yielding place {o new./JRIeil saae ¥ T I AT cgaEdT ATl

forsey (1) 3mesm

g |
"Only conclusion (1) | Only conclusion Il
follows/ &ae - | follows' | ae
forsed (1) 3meem

Neither (1) nor (Il)
follows / = ar (1)

Both (1) & (II)
follow / (1) 3R (1)
alsAr g1 3

3 o & (1) 3mwer

Statement : YA

Conclusions: forsy
(1

(I

— lusion (1) | Only conclusion (II) | Neither (i) nor (Il) | Both (1) & (I
g:—;g:wc;o/nc usl ollows / & follows / & ar (1) follow / (,)(34\)\-{ (1)
0 W (1) TRl IR T & (“_)73‘“(’?” __m a' TR
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Because of growth in pro
India has become self-su

7 frdfi g HT TR E |
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duction of Aluminium by National Aluminium Company

fficient in Aluminium./ IS¢ 3egfATATA FFge gany
W&Wﬁqﬁﬁm,mmﬁmﬂﬁmﬁﬁhmw?|

Previously India had to import Aluminium. / Tee HRd H FegATT F
T HE oS A | =

At this rate, India may start exporting Aluminium./ $8 &¥ W, #Rg




99 | Statement : FYUA :
_ d things are cheap.
2 All mangoes are golden in colour. No go1dg1 COIOL;;& aﬂggﬁ’r ' p./

Tl I TR T & &) A A FAEd T h !
Conclusions: fassy

() All mangoes are cheap. / @ 3 &Ed tl ;

() Golden coloured mangoes are not cheap. / IAeX T & 30 FEd A% ¥ | ol
Only conclusion (I) {"Only conclusion (Il) | Neither (1) nor (I1) Both (1) & (1)
follows/ aer follows / &aer follows / & @ (1) follow / (1) 3t (1)
s (1) 3meem forsss (1) 3muan 3R T (1) 3w | St & ey

//(‘0’0 Statement: sua

Jade plant has thick leaves and it requires little water. / |
m%%%mﬁam%mgﬁwmﬁmamﬁ?ﬁ?l |
Conclusions: faseay ' ’

(1) All plants with thick leaves require little water. /

HH AT 9fcrat ar ot 31 Fa7 gy & saeEEar B Y |
(i Jade plant may grow in places where water is not in abundance. / —
SIS & der 3ol Tl O 397 Ty ¥ AT AT ST AT A § |
Only conclusion (I) [‘Only conclusion (I1) | Neither (1) nor (II) | Both (1) & (1)
follows/ &aer follows / &agr follows / & @ () | follow / (1) 3% ()
ol sy (1) 3muen SFE (1) 3oy 3T o & (1) 3w | Q= & ey
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